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1 S A (+0.5) 75 D Ji (-1.6) LA (=0.9) e (-0.9) KFnH (+0.7) HE )1 (=1.3) SR (-1.3) | N TR (0.7
25 A #x% (1) 4m25 |26 B EE (1) 4m25 [27 /NI (2)  4m24 |28 ®H 5K (2)  4m24 [29 Zw L (2)  4mlb |30 L #ikZ (2)  4m09 (31 @M R (2)  4m02 |32 WA Zsx (2)  3m97
T AEAN (-2.5) AR (=2.4) ZH (-0.7) AR B, (-0. 6) B (0.0) A (-1.0) AR (-1.6) | HEE— (-1.0)
33 AT EAL (2)  3m94 |34 hm #IE (2)  3m84 |35 A& R ELWL (1) 3m70 |36 EE iR (2)  3m32
BT+ (-0.1) KFnH (-0.5) Ffh 1 (-1.6) [ (-0.5)
LEfmik |9 SF =& (2) 8m99 [10 T (1) 8m78 [11 fifF &% (1) 8m78 |12 /i @K (2) 8m64 [13 PEE b (2)  8mS8 |14 KE #iZ& (2) 8md3 [15 i@A O#E (1) 8m05 |16 K 2 (2) 8m00
(2. 721kg) PE DI /N #EFR HOE R % NI HIRARHI KA N TR
1 N 17 W PR () Tm98 |18 Bl ZEE (2)  Tm97 |19 T Em (2)  Tm96 |20 AFM 2 (1) Tm93 [21 AT gk (2)  Tm90 |22 ZEM M (2)  Tm89 |23 K BXZE (2) w84 |24 #ex A WEFT (2)  7Tm80
(L LS 0 e )i EySEar k1 AL oyl
25 LU A2 (2)  Tmb7 |26 K #Hi+ (2)  Tm38 |27 LA #EME (2)  Tm29 |28 i AKHA (2)  Tm07 [29 BE E (2)  6m99 [30 WEH E& (2)  6ml0 |31 AR Ald (1) 4m82
(S A X areail] 1EE [kzRniil] JHIR B
DUFE B 9 ZiE E (2 1759]10 E#  #itk (2) 174411 FiE B4 () 1743]12 k&1 =%k () 173413 W@ BEAE (2) 1730] 14 k@ 72 (D 1711]15 &% &4 (D 1643[16 md EH (2) 1568
Wi HER S HFRAR A ki) HFRAR A D% 47 B )5
100mH (0. 762m) 16.79 0.8 620 18.03 0.6 485 17. 44 0.6 548 17. 67 0.8 523 17.17 0.8 577 17.38 0.4 554 18.05 0.6 483 19.18 0.8 374
Ak 1m21 321 1m21 321 1m21 321 1m21 321 Iml5 266 1m27 379 Im21 321 1m36 470
3 [t (2. 721kg) 6m58 308 Tm33 356 Tm33 356 Tm43 363 6m98 334 6m24 287 Tm34 357 6m68 315
0 200m 29.60  +L1 510 28.63 2.2 582 29.49  +L1 518 29.37 4Ll 527 29. 01 +2.2 553 29.88 4Ll 491 30.00 2.2 482 31.08  +2.2 409
DUFE BB 17 dAk meF (2) 1549| 18 ok 0o (2) 1454[19 fHE 1B (2) 1427[20 #hK BB (2) 1415[21 WA ZEL (1) 1412]22 T# 272 (2 1385[23 A% L& () 133924 & #Jh (2) 1287
1 it = i PfE eI} it L bR PHDJE Ay AR R &)1
100mH (0. 762m) 18.97 08 393 19.18 <08 374 21.22  +0.4 209 18.57  +0.6 431 DQ 0 20.74  +0.8 244 19.95  +0.4 306 DQ 0
A Bk 1m27 379 1m21 321 1m21 321 1m24 350 1m30 409 1m24 350 Iml8 293 1m27 379
T (2. 721kg) 6m74 318 6m93 331 8m25 416 6m30 322 Tm34 357 6m42 298 Tm50 367 6m81 323
200m 30.33 22 459 30.79  +0.4 428 30.02  +0.4 481 32.67 2.2 312 27.81 +0.4 646 29.85  +0.4 493 31.65  +0.4 373 28.59  +0.4 585




